

11.8

(6) a)

$$\sum_{k=0}^{\infty} \frac{(-1)^k (x-5)^k}{3^k} = \sum_{k=0}^{\infty} \frac{[(-1)(x-5)]^k}{3^k} = \sum_{k=0}^{\infty} \frac{(5-x)^k}{3^k} = \sum_{k=0}^{\infty} \left(\frac{5-x}{3}\right)^k$$

This is a geometric that will converge when $\left|\frac{5-x}{3}\right| < 1$

$$\frac{5-x}{3} < 1 \quad \text{and} \quad \frac{5-x}{3} > -1 \quad \text{Therefore, } x > 2 \quad \text{and} \quad x < 8.$$

$$\text{At } x = 2: \sum_{k=0}^{\infty} \frac{(-1)^k (x-5)^k}{3^k} = \sum_{k=0}^{\infty} \left(\frac{5-2}{3}\right)^k = \sum_{k=0}^{\infty} 1^k \quad \text{This Diverges}$$

$$\text{At } x = 8: \sum_{k=0}^{\infty} \frac{(-1)^k (x-5)^k}{3^k} = \sum_{k=0}^{\infty} \left(\frac{5-8}{3}\right)^k = \sum_{k=0}^{\infty} (-1)^k \quad \text{This also Diverges}$$

Thus, the domain of f is $2 < x < 8$.

(b)

$$f(3) = \sum_{k=0}^{\infty} \frac{(-1)^k (3-5)^k}{3^k} = \sum_{k=0}^{\infty} \left(\frac{5-3}{3}\right)^k = \sum_{k=0}^{\infty} \left(\frac{2}{3}\right)^k = \frac{1}{1-\frac{2}{3}} = 3$$

$$f(6) = \sum_{k=0}^{\infty} \frac{(-1)^k (6-5)^k}{3^k} = \sum_{k=0}^{\infty} \left(\frac{5-6}{3}\right)^k = \sum_{k=0}^{\infty} \left(\frac{-1}{3}\right)^k = \frac{1}{1+\frac{1}{3}} = \frac{3}{4}$$

(22) Geometric Series

$$\sum_{k=0}^{\infty} \frac{(x-3)^k}{2^k} = \sum_{k=0}^{\infty} \left(\frac{x-3}{2}\right)^k \quad \text{This geometric series converges when } \left|\frac{x-3}{2}\right| < 1.$$

$$\frac{x-3}{2} < 1 \quad \text{and} \quad \frac{x-3}{2} > -1$$

$$x < 5 \quad \text{and} \quad x > 1$$

$$\text{At } c = 1: \sum_{k=0}^{\infty} \frac{(1-3)^k}{2^k} = \sum_{k=0}^{\infty} \left(\frac{-2}{2}\right)^k = \sum_{k=0}^{\infty} (-1)^k \quad \text{This diverges.}$$

$$\text{At } c = 5: \sum_{k=0}^{\infty} \frac{(5-3)^k}{2^k} = \sum_{k=0}^{\infty} \left(\frac{2}{2}\right)^k = \sum_{k=0}^{\infty} (1)^k \quad \text{This diverges.}$$

(c)

$$f(x) = \sin x \quad f'(x) = \cos x \quad f''(x) = -\sin x$$

$$f(\pi/2) = 1 \quad f'(\pi/2) = 0 \quad f''(\pi/2) = -1$$

$$f(x) \approx 1 - \frac{(x - \frac{\pi}{2})^2}{2} \quad \text{Quadratic Approximation}$$

$$f(x) \approx 1 \quad \text{Linear Approximation}$$

(d)

$$f(x) = \sqrt{x} \quad f'(x) = \frac{1}{2\sqrt{x}} \quad f''(x) = -\frac{1}{4x^{3/2}}$$

$$f(1) = 1 \quad f'(1) = 1/2 \quad f''(1) = -1/4$$

$$f(x) \approx 1 + \frac{(x-1)}{2} - \frac{(x-1)^2}{8} \quad \text{Quadratic Approximation}$$

$$f(x) \approx 1 + \frac{(x-1)}{2} \quad \text{Linear Approximation}$$

(2) a)

$$f(x) \approx 1 + \frac{(x-1)}{2} - \frac{(x-1)^2}{8} \quad (\text{See 1d above})$$

(b)

$$f(1.1) \approx 1 + \frac{1.1-1}{2} - \frac{(1.1-1)^2}{8} = 1.04875$$

$$\sqrt{1.1} = 1.048808\dots$$

(7)

$$f(x) = e^{-x} \quad f'(x) = -e^{-x} \quad f''(x) = e^{-x} \quad f'''(x) = -e^{-x} \quad f^{IV}(x) = e^{-x}$$

$$f(0) = 1 \quad f'(0) = -1 \quad f''(0) = 1 \quad f'''(0) = -1 \quad f^{IV}(0) = 1$$

$$f_0(x) = 1 \quad f_1(x) = 1 - x \quad f_2(x) = 1 - x + \frac{x^2}{2} \quad f_3(x) = 1 - x + \frac{x^2}{2} - \frac{x^3}{6} \quad f_4(x) = 1 - x + \frac{x^2}{2} - \frac{x^3}{6} + \frac{x^4}{24}$$

$$f_k(x) = \sum_{k=0}^{\infty} \frac{(-1)^k x^k}{k!}$$

(8)

$$\begin{aligned} f(x) &= e^{ax} & f'(x) &= ae^{ax} & f''(x) &= a^2 e^{ax} & f'''(x) &= a^3 e^{ax} & f^{IV}(x) &= a^4 e^{ax} \\ f(0) &= 1 & f'(0) &= a & f''(0) &= a^2 & f'''(0) &= a^3 & f^{IV}(0) &= a^4 \end{aligned}$$

$$f_0(x) = 1 \quad f_1(x) = 1 + ax$$

$$f_2(x) = 1 + ax + \frac{a^2 x^2}{2}$$

$$f_3(x) = 1 + ax + \frac{a^2 x^2}{2} + \frac{a^3 x^3}{6}$$

$$f_4(x) = 1 + ax + \frac{a^2 x^2}{2} + \frac{a^3 x^3}{6} + \frac{a^4 x^4}{24}$$

$$f_k(x) = \sum_{k=0}^{\infty} \frac{a^k x^k}{k!}$$

(12)

$$\begin{aligned} f(x) &= \frac{1}{1+x} & f'(x) &= -\frac{1}{(1+x)^2} & f''(x) &= \frac{2}{(1+x)^3} & f'''(x) &= -\frac{6}{(1+x)^4} & f^{IV}(x) &= \frac{24}{(1+x)^5} \\ f(0) &= 1 & f'(0) &= -1 & f''(0) &= 2 & f'''(0) &= -6 & f^{IV}(0) &= 24 \end{aligned}$$

$$f_0(x) = 1 \quad f_1(x) = 1 - x \quad f_2(x) = 1 - x + x^2 \quad f_3(x) = 1 - x + x^2 - x^3 \quad f_4(x) = 1 - x + x^2 - x^3 + \frac{x^4}{24}$$

$$f_k(x) = \sum_{k=0}^{\infty} (-1)^k x^k$$

(17) a)

$$\begin{aligned} f(x) &= 1 + 2x - x^2 + x^3 & f'(x) &= 2 - 2x + 3x^2 & f''(x) &= -2 + 6x & f'''(x) &= 6 \\ f(0) &= 1 & f'(0) &= 2 & f''(0) &= -2 & f'''(0) &= 6 \end{aligned}$$

$$f(x) = 1 + 2x - \frac{2x^2}{2} + 6x^3$$

(b)

$f^{(k)}(0) = k!c_k$ for $k \leq n$; $f^{(k)}(0) = 0$ for $k > n$. Therefore, the Maclaurin series for $f(x)$ is $f(x)$.

(24)

$$\begin{aligned} f(x) &= \cos x & f'(x) &= -\sin x & f''(x) &= -\cos x & f'''(x) &= \sin x & f^{IV}(x) &= \cos x \\ f\left(\frac{\pi}{2}\right) &= 0 & f'\left(\frac{\pi}{2}\right) &= -1 & f''\left(\frac{\pi}{2}\right) &= 0 & f'''\left(\frac{\pi}{2}\right) &= 1 & f^{IV}\left(\frac{\pi}{2}\right) &= 0 \end{aligned}$$

$$f_0(x) = 0 \quad f_1(x) = -(x - \frac{\pi}{2}) \quad f_2(x) = -(x - \frac{\pi}{2})^2$$

$$f_3(x) = -(x - \frac{\pi}{2}) + \frac{(x - \frac{\pi}{2})^3}{6} \quad f_4(x) = -(x - \frac{\pi}{2}) + \frac{(x - \frac{\pi}{2})^3}{6}$$

$$f_k(x) = \sum_{k=0}^{\infty} \frac{(-1)^{k+1} (x - \frac{\pi}{2})^{2k+1}}{(2k+1)!}$$

(26)

$$f(x) = \ln x \quad f'(x) = \frac{1}{x} \quad f''(x) = -\frac{1}{x^2} \quad f'''(x) = \frac{2}{x^3} \quad f^{IV}(x) = -\frac{6}{x^4}$$

$$f(e) = 1 \quad f'(e) = \frac{1}{e} \quad f''(e) = -\frac{1}{e^2} \quad f'''(e) = \frac{2}{e^3} \quad f^{IV}(e) = -\frac{6}{e^4}$$

$$f_0(x) = 1 \quad f_1(x) = 1 + \frac{1}{e}(x-e) \quad f_2(x) = 1 + \frac{1}{e}(x-e) - \frac{1}{2e^2}(x-e)^2$$

$$f_3(x) = 1 + \frac{1}{e}(x-e) - \frac{1}{2e^2}(x-e)^2 + \frac{2}{6e^3}(x-e)^3 \quad f_4(x) = 1 + \frac{1}{e}(x-e) - \frac{1}{2e^2}(x-e)^2 + \frac{2}{6e^3}(x-e)^3 - \frac{6}{24e^4}(x-e)^4$$

$$f_k(x) = 1 + \sum_{k=1}^{\infty} \frac{(-1)^{k-1} (k-1)!}{k! e^k} (x-e)^k = 1 + \sum_{k=1}^{\infty} \frac{(-1)^{k-1}}{k e^k} (x-e)^k$$

(33)

- $f(0) = 1$; therefore, positive at $x=0$.
- 2nd term is negative; therefore First Derivative is negative at $x=0 \Rightarrow$ graph decreasing.
- 3rd term is positive; therefore Second Derivative is positive \Rightarrow concave up.

Choice IV is both decreasing and concave up.

11.10

(1)

$$\frac{1}{1-x} = \sum_{k=0}^{\infty} x^k$$

Therefore:

(a)

$$\frac{1}{1+x} = \sum_{k=0}^{\infty} (-x)^k = 1 - x + x^2 - x^3 + \dots \text{ when } |-x| < 1. \text{ ROC} = 1.$$

(b)

$$\frac{1}{1-x^2} = \sum_{k=0}^{\infty} (x^2)^k = 1 + x^2 + x^4 + \dots \text{ when } (x^2) < 1. \text{ ROC} = 1.$$

(c)

$$\frac{1}{1-2x} = \sum_{k=0}^{\infty} (2x)^k = 1 + 2x + 4x^2 + 8x^3 + \dots \text{ when } |2x| < 1. \text{ ROC} = \frac{1}{2}.$$

(d)

$$\frac{1}{2-x} = \frac{1/2}{1-(x/2)} = \frac{1}{2} + \frac{1}{2^2}x + \frac{1}{2^3}x^2 + \frac{1}{2^4}x^3 + \dots \text{ when } \left|\frac{x}{2}\right| < 1. \text{ ROC} = 2.$$

(6)

(a)

$$\cos x = 1 - \frac{1}{2!}x^2 + \frac{1}{4!}x^4 - \frac{1}{6!}x^6 + \dots$$

$$\cos 2x = 1 - \frac{1}{2!}(2x)^2 + \frac{1}{4!}(2x)^4 - \frac{1}{6!}(2x)^6 + \dots = 1 - \frac{2^2}{2!}x^2 + \frac{2^4}{4!}x^4 - \frac{2^6}{6!}x^6 + \dots = \sum_{k=0}^{\infty} \frac{(2x)^{2k}}{(2k)!}$$

$$\lim_{k \rightarrow \infty} \left[\frac{(2x)^{2(k+1)}}{(2(k+1))!} \cdot \frac{(2k)!}{(2x)^{2k}} \right] = \lim_{k \rightarrow \infty} \frac{(2x)^2}{(2k+2)(2k+1)} = 0 \text{ for all values of } x.$$

ROC = ∞

(b)

$$e^x = 1 + x + \frac{x^2}{2!} + \frac{x^3}{3!} + \dots$$

$$x^2 e^x = x^2 + x^3 + \frac{x^4}{2!} + \frac{x^5}{3!} + \dots = \sum_{k=0}^{\infty} \frac{x^{k+2}}{k!}$$

$$\lim_{k \rightarrow \infty} \left[\frac{x^{(k+1)+2}}{(k+1)!} \cdot \frac{k!}{x^{k+2}} \right] = \lim_{k \rightarrow \infty} \frac{x}{(k+1)} = 0 \text{ for all values of } x.$$

$$\text{ROC} = \infty$$

(c)

$$e^x = 1 + x + \frac{x^2}{2!} + \frac{x^3}{3!} + \dots$$

$$x e^{-x} = x + x(-x) + \frac{x(-x)^2}{2!} + \frac{x(-x)^3}{3!} + \dots = \sum_{k=0}^{\infty} \frac{x(-x)^k}{k!} = \sum_{k=0}^{\infty} \frac{(-1)^k (x^{k+1})}{k!}$$

$$\lim_{k \rightarrow \infty} \left| \frac{x^{(k+1)+1}}{(k+1)!} \cdot \frac{k!}{x^{k+1}} \right| = \lim_{k \rightarrow \infty} \frac{x}{(k+1)} = 0 \text{ for all values of } x.$$

$$\text{ROC} = \infty$$

(d)

$$\sin x = x - \frac{1}{3!} x^3 + \frac{1}{5!} x^5 - \dots$$

$$\sin(x^2) = x^2 - \frac{1}{3!} (x^2)^3 + \frac{1}{5!} (x^2)^5 - \dots = x^2 - \frac{1}{3!} x^6 + \frac{1}{5!} x^{10} - \dots = \sum_{k=0}^{\infty} \frac{(-1)^k (x^{4k+2})}{(2k+1)!}$$

$$\lim_{k \rightarrow \infty} \left| \frac{x^{4(k+1)+2}}{(2(k+1)+1)!} \cdot \frac{(2k+1)!}{x^{4k+2}} \right| = \lim_{k \rightarrow \infty} \frac{x^{4k+6} (2k+1)!}{(2k+3)! (x^{4k+1})} = \lim_{k \rightarrow \infty} \frac{x^5}{(2k+3)(2k+2)} = 0 \text{ for all values of } x.$$

$$\text{ROC} = \infty$$

(21)

(a)

$$\frac{d}{dx} \cos x = \frac{d}{dx} \left[1 - \frac{x^2}{2} + \frac{x^4}{4!} - \frac{x^6}{6!} + \dots \right] = -x + \frac{x^3}{3!} - \frac{x^5}{5!} + \dots = - \left[x - \frac{x^3}{3!} + \frac{x^5}{5!} - \dots \right] = -\sin x$$

(b)

$$\frac{d}{dx} \ln(1+x) = \frac{d}{dx} \left[x - \frac{x^2}{2} + \frac{x^3}{3} - \frac{x^4}{4} + \dots \right] = 1 - x + x^2 - x^3 + \dots = \sum_{k=0}^{\infty} (-x)^k = \frac{1}{1+x}$$

(33)(a)

$$\frac{1}{1-x} = 1 + x + x^2 + x^3 + x^4 + \dots$$

$$\frac{d}{dx} \left[\frac{1}{1-x} \right] = -\frac{1}{(1-x)^2}$$

$$\frac{d}{dx} [1 + x + x^2 + x^3 + x^4 + \dots] = 1 + 2x + 3x^2 + 4x^3 + \dots$$

$$\frac{x}{(1-x)^2} = x \frac{d}{dx} \left[\frac{1}{1-x} \right] = x \cdot \frac{d}{dx} [1 + x + x^2 + x^3 + x^4 + \dots] = x + 2x^2 + 3x^3 + 4x^4 + \dots = \sum_{k=1}^{\infty} kx^k$$

(34)(a)

$$\sum_{k=1}^{\infty} k \left(\frac{1}{3} \right)^k = \frac{\frac{1}{3}}{(1-\frac{1}{3})^2} = \frac{\frac{1}{3}}{(\frac{2}{3})^2} = \frac{\frac{1}{3}}{\frac{4}{9}} = \frac{3}{4}$$